SEGMENT D2.2
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PODDASZE

WISNIOWE
DOMY

PARTER
pow. uzytkowa
0.1 Sien 4,28m?
0.2 Hol / salon / kuchnia 33,34m?
0.3 WC, kottownia 2,69m?
04 Garaz 14 ,40m?
Suma 54,71m2
PIETRO
pow. uzytkowa
1.1 Hol 9,54m?
1.2 Pralnia 2,13m?
1.3 Pokoj 12,50m?
1.4 Pokoj 14,42m?
1.5 Pokdj 13,39m?
1.6 Lazienka 5,31m?
Suma 57,29m?
1.7 Taras 4.,92m?
PODDASZE
pow. uzytkowa | pow. podtogi
2.1 Hol 7,94m? 7,94m?
2.2 Lazienka 4,01m? 4,01m?
2.3 Pokoj 17,10m? 27,74m?
2.4 Pokoj 4,54m? 14,89m?
Suma 33,59m? 54.58m?
RAZEM SEGMENT D2.2

pow.uzytkowa 145,59 m?| pow.podiogi 166,58 m?

OGRODEK

48,5 m?




